Commutative,
Associative, and Zero
Properties Review




Commutative Property
“Commute”

7T+8=8+7
(-3)4 = 4(-3)
a+b=b+a
12xa=ax12

In your own words, describe what you think the
commutative property is.

- The commutative property only works for addition and
multiplication



Associative Property
“Associate”

(7+8)+2 = 7+(8+2)
(a+hb)+c = a+(b+c)
Bx4)x2=3 x(4 x2)
(axb)xc=ax(bxc)

In your own words, describe what you think the
associative property is.

- The commutative property only works for addition and
multiplication



Simplify the expression. Describe each step.

1) 2+(55+Yy)

2) (c+1D)+9



Simplify the expression. Describe each step.

3) (2.3+n)+14

4) 7+(d+5)



Simplify the expression. Describe each step.

5)  10(7t)



Multiplication Property of Zero

In your own words, describe what you 5x0=0
think the multiplication property of zero. 0ed4=0

Multiplication Property of One

In your own words, describe what you S5x1=5
think the multiplication property of one. 1e4=4



Simplify the expression. Describe each step.

6) 6e0e(Q
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